


W

~et | 1|
ct No. 1 i 18P/283/25

1sprzs0s |

————

St Prnted Pages . 40 ‘

S8 Question Booklit Ne E:‘. ? :?

(To be filled up by the candrdate by blue/ black ball-point pen)

p 4 ]
i |
= | J

o (Wntethe digitsinwords) o L

No.oof OMR Answer Sheet .. e

srre Code Mo, 1

ooened Date

1. Within 30 minutes of the issue of
it containg all the pages in corr
Question Booklet bring it to
fresh Question Booklet.

2. [hynot bring any loose pe

3. A separate OMR Answer,
Sheet shall not be provgled. Only the O

or mutilated.
will be evaluate

5. On the front page of fhe OMR Answ i oll Number in the space
m. Also, write the Question

places.

6. DNo overwriting is allowed 1
OME Answer Sheet and also

7. Anyv change in the aforesaud entries
unfair means.

8. Fach question in this Beoklet is followed by four alternative answers. For each guestion, you are to
record the correct option on the OMR Answer Sheet by darkening the appropriate circle in the
corresponding row of the OMR Answer Sheet, by ball-point pen as mentioned in the guidelines given
on the first page of the OMR Answer Sheet.

9, For each question, darken only one circle on the OMR Answer Sheet, If you darken more than one
oirecle or darken a circle partially, the answer will be treated as incorrect.

10,  Aoie that the answer once filled tn ink cannot be changed. If you do not uish to attempt a question,
icave all the circles in the corresponding row blank (such question will be awarded zero mark).

11. For rough work, use the inner back page of the title cover and the blank page at the end of this
Hooklet.

12. On completion of the Test, the Candidate must handover the OMRE Answer Sheet to the Invigilator
in the examination room / hall. However, candidates are allowed to take away Text Booklet and copy
of OME Answer Sheet with them.

13, Candidates are not permitted to leave the Examination Hall until the end of the Test.

‘4 |1 s candidate attempts to use any form of unfair means, he/ she shall be liable te such pumshment
as the Unversity may determine and impose on him/her.

= S o d wifem sTAm-gy W ofE T g

iestion Booklet No. and Set No. (if any) on
swer Sheet Serial No. on the Question Booklet.
e verified by the Invigilator, otherwise it will be taken as

the entries of Roll No



gpPACE FOR ROUGH WORHK
IF ¥ F TEm EE



18P/283/25 Set No. 1
No. of Questions/J¥! i #&AT : 120
Time /894 : 2 Hours /9% Full Marks/qUt{ : 360

Note : (1) Attempt as many questions as you can. Each question carries 3 marks.
One mark will be deducted for each incorrect answer. Zero mark will be
awarded for each unattempted question.

AFIYF T F T FH F WA | TAF TH 3 3% F 2 ) TAF
T W F U TE o WA m | yw aeid YW W WS 3
Rl

(2) If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.

afe s defcus 3 odt I F Fee wdfig €, & fsean =d 3=
2|

1. A small shop/store that somebody operates from one’s home, selling food,
drinks, etc., to local people especially in a township is called

(1) Plaza (2) Subway (3) Spaza (4) Shed

2. Who among the following is the treasurer of a college or university?

(1) Burser (2) Bursar (3) Disburser (4) Burrsar

(73) 1 (P.T.O.)
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3. Which one of the following is a vessel for burning incense?

(1) Incencer . (2} Incenser (3) Censer (4) Cenotaph

4, If your grandfather is as fit as a fiddle, then he 1s actually
(1) just well (2) temporarily fine

(3) in excellent health (4) slightly feeble

5. to be a good Samaritan means
(1) To be a secret advisor to someone
(2) To be malign and cruel to someone
(3) To be kind and compassionate to someone

(4) to be kind but selfish to someone

6. Which one of the following is a correct proverb?
(1) Faint heart never won a fair lady
(2) Faint hearts never won a lady
(3) Faint hearts never won any lady
(4) Faint heart never won a fare lady

7. Oaks fall when stand. Choose the correct word from below to fil] in the
blank to make a complete proverb.

(1) lily (2) reeds (3) roses (4) willows

(73) 9
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Which one of the following is a correctly spelt word?

(1} Surreptitious (2) Sureptuous (3) Surreptuous (4) Sureptituous

Which one of the following word is wrongly spelt?

(1} Dissipation (2} Disstress (3) Dissension (4) Dissolve

whicn 1s the correct collective noun to fill in the blank in the following
sentence?

of beautiful girls.

(1) Bevy (2) Carillon (3] Clump (4) Suite

Which is the correct collective noun to fill in the blank in the following
sentence?

of people following a funeral.

(1} Gang (2} Horde (3} Cortege (4) Stack

“Beware of the dog.” this sentence is

(1) Interrogative (2] Imperative (3) Declarative (4) Exclamatory

“1 believe what vou say.” Here ‘what you say’ in this sentence is a
(1} Noun Clause (2) Objective Clause

(3] Gerund Clause (4) None of the above

Fill in the blank with appropriate preposition :

diseases.”

“Most people die
(1} from (2) of (3} in (4) by

3 (P.T.0.}
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15.

16.

17.

18.

19.

(73)

Fill in the blank with appropriate preposition :

“She wasn't keen participating.”

(1) at (2) of (3) on (4) about

“The village lies on a busy through road.” The italicized word ‘through
sentence here is

(1) Preposition (2) Adverb

(3) Auxiliary Verb (4) Adjective

Fill in the blank with appropriate phrasal verb :

“How did the accident 2"

(1) come round (2) come about (3) come away (4) come with

Fill in the blank with appropriate phrasal verb :

Government's immediate attention.”

“The farmers’ suicides

(1) call on (2] call 1n (3) call at (4} call for

Which one of the following is the correct passive voice of the sentenc

“You kept me waiting.”
(1) You kepl me awaiting.
{2) T was keeping on awaiting.
(3] You were keeping me to wait.

(4) 1 was kept waiting,



20,

21.

Directions (Question No. 22 to 24) : Read the following passage carefully and answ
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Adam consented to the eating of the fruit.” Here ‘eating’ is a

(1) Verb (2) Adverb (3) Gerund (4) Modal

Choose the correct answer to fill in the blank -

Sanskrit, as well as Arabic,

taught there.

(1} was (2) were (3) has (4) had

questions given below.

22.

{73)

The things that go towards the maintenance of human life can be
classified as follows. Certain of them are inanimate, for example gold and
silver and the products of the earth and other objects of the same kind.
Others are animate, endowed with their own impulses and appetites. Some
ol ihese animate objects are rational, other irrational. The irrational
subdivision includes horses, oxen and other animals which labour for the
service and subsistence of mankind. The rational category is divided into
two sections, Gods and men. The Gods will be satisfied if one lives a devout
and pure life. Next to the Gods, and after them, the greatest contribution to
the lives of mankind is made by men themselves. And if we then turn to
things of the opposite type, those which can hurt and damage human
beings, and if we attempt a similar classification here, we have to record our
belief that the Gods are not capable of doing harm to mortals. They,
therefore, must be left out of account in this connexion and it has to be
concluded that the greatest source of harm to man is man.

What this passage is primarily about?
(1) God and the rational world (2) Irrational and Rational entities

(3) Classification of human world (4} None of the above

S P.T.O.)

er the
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23.

24.

25.

26.

27.

(73)

What are the broad categories of human life?

(1) Horses and oxen

(2) Rational and irrational

(3} Gods and humans (4) Animate and inanimate

Who enjoys the next position to Gods?

(1) Gods (2) Human beings

(3) Irrational beings (4) None of the above

The sum of the series Jﬁ*’%"’ L4 to 9 terms s

O W Wh 4+ L+ be o T G F AR

(1) 3 @ -% @) 3
4
In an AP, if -S’“ = nlq— then Tt will be
Sn n n+l
4
Reet AP &, afy Sm =M qa Lmsl @
Sn 'ﬂ_4 Tﬁ‘.+!l

) (2m +1)° ) (2m +1)° g Ml

(2n+1)° (2n +1)? 2n + 1

1 1

are in

If a?, b2, ¢? are in AP, then —1~--,— —,
b+c c+a a+b

(1) AP (2) GP (3] HP

At b AP R e B Y

)
b+ec c+va a+b

(1} AP (2) GP (3) HP

Cad|b

2m +4
n+4

(4)

(4) None of thes

(4) TMH # H3 T



28.

29.

30.

31.

(73)
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The sum of first three terms of a GP is to the sum of the first six terms as

125:152, then the common ratio of the GP is

Rt GP % wum o TS W AT AL VYW B: TG F AT F FIUE 125:152 2, a9

GP &1 FEuE 1 27

(3 (2) % (3) 2 (4) 2

Ex=l+a+as+a’ + tcm[|a1-=:1}andy=1+b+b2+b3+---tt}m{|b|t:1],

then the value of 1+ ab+ a2b? + a’bd + .- to o will be

IR x=l+a+a’+a’+--0 T (|al<l) T y=1+b+b?+b%+..

i|bl<1), a4 1+ab+a?b? +a3p? +.-- 0 H A BM

5 (e S y__ i Xy
1) ks | 2 x4 u=1 3 x+y-1 al x+y+l

Sum up to n terms of the series 6+66+ 666+ - is

S 6+ 66+ 666+ F n W F AT R

6 6 n=1

5 110" —9n +10 2) L 10" —on-10
(1) (10" ~9n+10] @2 = |
3 210" -9n-10] @) 2110 +9n+10]

81 81

The value of ""2C, 5 + ""*C,_, will be equal to
20 L4 mU2C, , A fREs SO Em?

(1) "~2c, 2 e @) Y (4) "T1Coyy

oo gah

(P.T.O.)
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32.

33.

34.

35.

36.

(73)

The number of divisors of 36000 is
36000 ¥ W & TEA ©

(1) 18 (2) 36 (3) 72 (4] 180

If '°C,, =1°C,,,, then the value of r is

If2 5c,, = 9C,, ;, T r F AA B

(1) 1 (2} 2 (3) 3 14) 4
IlPr ;
The value of ri‘[ v }15
A
¥ H-P
L oaH R
e
(1) 2" i g | (3) 2" (4) 2" +1

How many words can be formed out of the letters of the word ARTICLE so that
vowels occupy the even places?

ARTICLE Y= F a3arii & fpq wsgl ) w91 30 990 1 o1 o95:ft 2 6 =17 =
WM ¥H & TWE 9WOE 7

(1) 132 (2) 144 (3) 156 (4) 172

The number of ways in which we can select 5 letters of the word
INTERNATIONAL is equal to

INTERNATIONAL Y& & 5 3/t &1 9919 &9 fhad wom & 1 a9a §7

(1) 200 (2) 220 (3) 242 (4) 256



37.

38.

39.

40.

73]
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How many 4-digit numbers can be formed from the ten digits 0, 1,2, 3, 4, -, 9: if
no digit being repeated in any number? |

@ oW 0,1,2,3,4,-,9 & 4 = H frft dered 1 W OYHRE & AT
nﬁé%wmﬁﬁmmﬁwﬁﬁﬁ?

(1] 4500 (2) 4525 (3) 4536 (4) 4540

How many numbers with different digits greater than 1000 can be formed from
the digits 1,0,2, 37

,0,2,3 3 8 1000 § @@ fubm o 6 tredt gemetl i w@n # 51 o
27

(1) 16 (2) 18 (3) 20 (4) 22

A and B are two sets, then A-(A - B} is equal to
AN B Z W= E, 79 A-(A-B) T B

(1) B (2) AUB (3) AnB (4) B-A

Let X be the universal set for sets A and B. If n{A)=200, n(B)=2300,
n(AnB}=100 and n(A nB)=300, then n(X)=

e fam f, A @ B mg=a ¥ fau x wEfis wg=w R} 3l n(A)=200,
n(B)=300, n(AnB)=100 @ n(ANB)=300, @ n(X)=

(1) 600 (2} 700 (3) 800 (4) 900

9 (P.T.0)
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41. Let Aand B be two disjoint subsets of a universal setU. Then { AuB| "B’ = ?

(1) A (2) B (3) ¢ (4) None of these
qm foar B, A w1 B feft wehiifis sqs U @ @ wEgH IWEHE §l
{AUB}NB =

(1) A (2) B (3) ¢ (4) T 8 2 T

(A-B)u(B-C)u(C-A)is

A} A TN B R WIET § WM AUBUC=U, T (A-B)U(B-C)u(C-4) 7
& 2
(1) AUBUC (2) AnBnC (3) AU(BAC) (4 An(BuC)

43. Choose the odd one

fawm =1 9w S
(1) 512 (2) 625 (3} 1296 (4) 2401

44. Study the below diagram and find the numbers that lie inside exactly two
figures : )
fee sma w1 seamy Ffm g 7 dEmst & Wﬁ%{qﬁ#ﬁ_ma}mﬁ
% o ? '

(3
8

(1) 2, 1 (2) 5, 1 (3) 5,9 4) 9, 1

73) 1o
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46.

47.

73]
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Which one of the following does not
figure?

2 70 sgpfa # Fraforfan § & #7 omifea @9 w0 R w8 F@ 27
A.‘.r.g:%‘

o)

represent the shaded region in the given

(1) An(BuC) (2) An(BnC) (3) An(B-C) (4) A-(BuC)

In a survey of a university students 64 had taken mathematics course, 94 had
taken Chemistry course, 58 had taken Physics course, 28 had taken
Mathematics and Physics, 26 had taken Mathematics and Chemistry, 22 had
taken Chemistry and Physics course and 14 had taken all the three courses.
The number of students who had taken one course only is

favafaerem & o & UH Ha80 § 64 3 TG wewww o 2, 94 3w wH
TeTEn foa 2, 58 3 Wifeeh urewsw fomr 2, 28 3 wfim Ty «fifesh fan 2, 26
3 nfee A e e o R, 22 3 wem e awn difeeR T R w14 7 oft
7 yrewEy forn &, ik v ey o g gEl i den 2

(1) 106 (2) 102 (3) 108 (4) 112

How many letters of the English alphabet appears same when looked at in a
mirror?

el gdw ® 2wt W ofish avimen & fRA sew wow A AW 27

(1] 9 (2) 10 (3) 11 (4) 12

11 (P T8}
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48.

49,

50.

(73)

By looking in a mirror, it appears that it is 6: 30 in the clock. What is the real

time?
a&mﬁ&@imaﬁﬁezaomﬁm%mﬁww%?
(1) 6:30 (2) 5:30 (3) 6:00 (4) 5:50

There are five different houses A to E, in a row. A is to the right of B and E is to
the left of C and right of A, B is to the right of D. Which one of the houses 1s in

the middle?

freft 5§ A @ E @ qfu B W &1 A, B % g0 R A E C % A qu A
F 7€ 2, B, D% Al ¥ FA gHA € 7 7

(1} A (2) B (3) € (4) D

Four political parties W, X, Y and Z decided to set up a joint candidate for the
coming Parliamentary Elections. The formula agreed by them was the
acceptance of a candidate by most of the parties. Four aspiring candidates
A, B, C and D approached the parties for their tickets. A was acceptable to W
but not Z. B was acceptable to Y but not X. C was acceptable to W and Y. U was
acceptable to W and X. When candidate B was preferred by W and Z, candidate
C was preferred by X and Z and candidate A was acceptable to W but not to V.
Who got the ticket?

W, X,Y a0 Z 9% ToHifde gel 4 sl wud g9 0 6w IefmEan w@m s
wﬁﬁu%mﬁwﬁaﬁmmwﬁaﬁﬁ%aﬁwﬁm@m&&c
1 D WR el Iefigan ¥ o fwe ¥ fm owE A mwd frmm oA owo=
wiwd o1 ST z w G B, Y # Wed o dE X ol oo w sk y B
e gl D, W T X ® wliwd an 9@ HiER B B W oaw 2 % 7w o
TEE fdn e, IefizER ¢ W OX AWz F g wfE wHE Ben o v sedeaw A
W H wied o SfF Y F T) fee fwe wrary

) 2 B (3) ¢ @) D

12
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52.

53.

54.
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Let R = gS -4. Given R =16, when S =8. The value of R, when S =10 is

A I &, R=gS-4. fa1 53m & R=16, 59 S—8. 7 S=10, ¥ R % °H

2

(1) 11 (2) 14 (3) 20 (4) 21
: o V3 -2
After rationalizing the numerator of 7= the denominator in simplest form is
(1) V3 (43 -+2) ) 3~4B40
(3) 3++6 (4) None of these

WV2 % siw e T % wr aEE w w2

N3
(1) V3 (vV3-+2) (2) 3-4/32
(3) 3++6 (4) 7 @ #r§ T

When x'° +1 is divided by x-1, the remainder is
T9 P +1 F x-1 8 fawfae fer s 2, 9w R

(1) 1 (2) -1 (3) O (4) 2

From a group of boys and girls, 15 girls leave. there are then left two boys for
each girl. After this 45 boys leave, there are then 5 girls for each boy. The
number of girls in the beginning was

e U et F g " 15 aiferid 9ol 9 &, 99 Yl e § fou @
aeF & TG 8l THH a1G 45 AGE 9 I 8, 99 YdF 9o F 5 sfernd
21 gy § aifeemiatt i gear o

(1) 40 (2) 43 (3} 29 (4} S0

13 (P.T.O.)



18P/283/25 Set No. 1

55. Monetary Policy in India is framed by

(1) SEBI (2) GST Council

(3} IRDAI (4} Monetary Policy Committee
wra  HifEes Afe w0 s R

(1) @il (2) Sftowmodto ufty

(3) HEo3ToToTodTR o0 (4) i Aifa affd

56. NSE-50 is now renamed as
(1) S & P CNX Nifty (2} BSE 200
(3) BSE Sensex (4) DOLLEX
THoUHod0-50 F 1 age FT T T 2
(1) THo g To HWoHoTd®o FF  (2) SoTHogo 200
(3) HowHodo FHTH (4) el

57. When an assessee saves tax by isolating the tax law, this is known as
(1) tax avoidance (2) tax evasion
(3) omission of material fact (4) (2} and (3} above
mmmaﬁw%ﬂﬂ?mﬁm%,ﬁﬁﬁﬁﬂ%
(1) * wfEn (2) FET

(3) HE s TE (4) SHEIF F (2) T (3)

(73} 14
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59.

60.

(73]
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In India, the Income-tax Act, 1961 came into force with effect from

(1) Ist April, 1962

(3) lst April, 1961

(2} 31st March, 1961

(4) None of the above

o A R i, 1961 f fadft @ amp gen 2, =v 2

(1) 1 734, 1962

(3) 1 ¢id¢d, 1901

The Chairman of GST Council is

(1) Arvind Pangadia

(3) Arun Jaitley
feumedte g & ey B
(1) Iwfa= wmfem

(3) 30 Sreef

Industrial Park is

(1) an industrial model town
(3) (1) and {2) above
Aftenfieh U U

(1) i afeea oea 2

(3) IWH (1) M (2)

15

(2) 31 #€, 1961
(4) 3R | ¥ HE A

(2] Rajeev Kumar

(4) Narendra Modi

(2) TSl FAw
(4) T =G

(2) a growth centre

(4] None of the above

(2) fommm 5 2
(4) I H ¥ F1E T

(P.T.O.)
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61. Angel Investors are

(1) low net worth individuals (2) high net worth individuals

(3) high growth individuals (4) low growth individuals
T T

(1) 9 g 9@ (net worth) a =i & 8

(2) afte yg ufEmfe (net worth) gt =afF B 8

(3) 3= fyFm I =i B #

(4) Fr= o aa =t @9 @

62. Special Economic Zone has been created to

(1) encourage export (2) encourage import

(3) encourage free trade (4) encourage domestic trade

oo i &3 =1 gom fear o 2

(1) frafa S ¥ fao (2) smE MR F fow

(3) I =MW F WiewrEd & forg (4) 23 =R % Sremes F
63. WTO Agreement covers many aspects of International Trade, except

(1) trade in goods (2) distrust settlement

(3) trade in services (4) non-manufactured goods

fa-qa . [ _ =,

MR ST THsitar, SF0PHE SR F F5 UBsl H wmie ' ]
ol RESS| w8, 3 =
(1) Fgat § =R (2) sfavam fgem
(3) Faredt H sEn (4) AR 7@

(73) | »
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The inter-related functions of IBRD, IFC and IDA are

(1) to lend funds and provide advice

(2) to serve as a catalyst to stimulate investments by othres
(3} (1) and (2) above

(4) None of the above

sl qEFEtn @ fem d% (IBRD), saugle fam fm (IFC) @ amwiyia
fgsmE 59 (IDA), 39 @+t Henadi & sFm-gerdl #1d @

(1) e U 3N R w0

(2) A R e w9 F & o= = I w7
3) ITU® (1) 3 (2)

(4) 0 A A wE T

If a company which is not incorporated in India issues securities in India, 1t has
to comply with issuance rules imposed by SEBL Such a foreign market in USA

is called
(1) Bulldog Market (2) Samurai Market

(3) Yankee Market (4) Ankee Market

T ¥ s i s S R sfngfdt @ Reie ume A awdt F, A 3@ A
(SEBI)mmﬁﬂﬁwvmm@m%|&mﬁ%ﬁmaﬁmﬁﬁ%§

(1) gesfT a9k (2) HYUE SR (3) FH TR (4) T=hl TR

17 (P.T.0.)
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66.

67.

68.

73

Which is not the prohibitory function of Reserve Bank of India?
{1) It cannot purchase its own shares

(2) Tt cannot give interest on deposits held by it

{3) It cannot give loans on the security of debentures

(4) It cannot draw or accept bills not payable on demand

ardlg fod A% @ wH-u seataa w9 A 27

(1) T8 U3 H7 @A A8 @lig Faal

(2) 98 HTH SH UM W sA A g Hehan

(3) 4% FUME o WRYd o w0 9 2w

(4) 77 A7 W yTAE 7 & 9 fam # I e ww A wew

Suppose on an investment of Rs 10,000 @ 5%, a return of Rs 500 is paid

annually. If the market interest rate increases to 8%, then, to earn Rs 500, the
amount required to be invest would be

(1) Rs 10,000 (2) Rs 7,500 {3) Rs 6,250 (4) Rs 5,750

A fF 10,000 %o & @R W 5% # T H, 500 Fo AW frm wmr 2| s
I G 9€ 8% B W 8, T 500 Fo AME WH T F fau fEw war wm

(1) 10,000 %o (2) 7,500 %o (3] 6,250 %o (4} 5,750 %o

Recently the Reserve Bank of India has granted licence to “Jan Laxmi Finance

Services’ in the form of small finance banking. It has its headquarters situated
n

(1} Bengaluru (2) Kolkata (3} Mumbai (4) Chennai
w1 0 geM gq ogdd T ) s qeney fiug 2

(1) Tee | (2) ®eFE A (3) greE d (4) ==¢ F
18



69. The Document(s) required by the Commercial Bank

70.

i73)
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s for financing below
Rs 10,00,000 to MSME unit(s} is/are

(1) ITR and land ownership document

(2) land ownership document and guarantor
(3] only proposal of requirement
(4) (1) and (2) above

aifrfr d%1 g gaW, @9 U9 Te SHEA A 10,00,000 Fo % Y fm 3 %
fqu 59 eedas/zeaast # smavasa &, 3 2/3

(1) getoatmo wd i wiferr ZETat

(2) W Wi gEES T T

(3] FTE ATFIgHAT & o0 TETEA

(4) IMF (1) 79 (2)

Mixed Economy means

(1) coexistence of cottage and heavy industries
(2) foreign cooperation in industrial development
(3) coexistence of public and private sectors

(4) existence of small-scale industries

fafira sefegaeen =1 o7 2

(1) 70 T FN T F HeHEA
(2) e faem 4 fag w1 weEm
(3) TdEFE Td el & w1 wRefiae
(4] =19 I o G

19 (P.T.O.)
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71. What do you mean by Closed Economy?
(1) No exports (2) No imports

(3) Controlled capital (4) No exports and imports

a2 sfemaren & AW w1 THED 27
(1) faafa == (2) EE e (3) fafm dsh (4) ¥ frafa 7 s

72. Jawahar Rojgar Yojna was introduced in the year

(1) 1950 (2) 1991 (3] 1951 (4) 1989
ST U A g g eft, @
(1) 1950 # (2) 1991 # (3) 1951 H (4) 1989 §

73. The most effective instrument of controlling black money in an economy is

{1} devaluation of currency {(2) demonctization
(3) deflation (4} depreciation of currency
freft ordsmaeen § w6l v W fREW FW @ gaifes gaEed qiE @
(1) T3 S (2) T
(3) srwhifa (4) 531 1 I wTE

T4. Who among the following maintain the Foreign Exchange Reserve in India?
(1) Reserve Bank of India (2) Ministry of Finance
(3) State Bank of India (4} Government of India
= | ® #F fagEll qu1 WeR &1 4 27
(1) s fiod &= (2) fom waeE
(3) Wrdl w2 d% (4) WHd THR

(73) 20
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76.

T7.

78.
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Which one of the following is an auxiliary export document?

(1] Commercial invoice (2) Bill of exchange
(3) Certificate of inspection (4) Proforma invoice
frefafas & @ FH-31 gees fafq 99w @7

(1) Srifsas e (2) fafma fao

(3) fAfiegor =1 ymIor O (4) ST=md S

The network on which e-way bill is generated, is on :

(1) E-commerce network (2) GST network

(3) NSDL network (4) NPCI network

g Jeas @ §-3 fom A FFren o @, 9@ R

(1) §-md Fea (2) Fowodto Tz

(3) TAoTHoEloTHo Feah (4) TodtorioaMEo Feas
In which one of the following policies, interest rate is included?
(1) Fiscal Policy (2) Industrial Policy
(3) Monetary Policy (4) Economic Policy

frm & | feg Aifa d = afwfad & S 87
(1) T A (2) offenfe Afd (3) e A (4) o A

Which State occupies the first place in the production of minerals?

(1) Uttar Pradesh (2) Andhra Pradesh

(3) Jharkhand (4) Karnataka

-8 T F GEAS IAEA B TR WH TH R7

(1) I T (2) IS (3) FRGTS (4) FAH
21
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79. The Integrated Rural Development Programme was launched in the vear

(1) 1978 (2) 1980 (3) 1984 (4) 1990
Chita aio o wews i yEerd g off, ad
(1) 1978 ° (2) 1980 H (3) 1984 H (4) 1990 H

80. In which year the National Food Security Act was passed?
fr ad wfln @ gran rfufem wiw e mr?
(1} 1999 (2) 2013 (3) 2015 (4} 2017

81. Which economist developed the concept of Human Development Index (HDI) ?

(1) Mahbul-ul Haq (2) Heckscher-Ohlin
(3) Jagdish Bhagawati (4} Manmohan Singh
st 3 wea fawm gEeE (HDI) 6 = #i
(1) HEA-3 TF (2) dFE-ATRIeH
(3) ST st (4) wTEA foe

82. Which of this is not included in the Human Development Index?
(1) Life expectancy (2} Real per capita income
(3} Literacy (4) Social order
= 4 @ F-w o fawm gewE § Wi @ 20
(1) SfEF weamsm (2} =t Yl =R am
(3) @regar (4) HHETRSF =Ty

83. The impact of Green Revolution is maximum in the production of

(1) rice (2) wheat (3) maize (4) millets
. % I H wha Fifa w1 oy g T
(1) == (2) 1§ (3) W= (4) s

(73) 22
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Where is the headquarters of Reserve Bank of India situated?

(1) New Delhi  (2) Mumbai (3] Kolkata (4) Chennai
yrdlg fiod d% 1 qeae @i e 27

(1) 7 fg (2) T (3) rerhe (4)
Which one of the following is a Statutory Financial Statement?

(1) Funds Flow Statement (2) Cash Flow Statement

(3) Value Related Statement (4} Auditor’s Report

freafefgs d & #-a1 duifie fGaw 27

(1) &9 ware faam (2) ¥%e vare faam

(3) e weated faa (4) 3TheF F Fiaee

The ideal level of quick ratio is
T FATE F A A 2
{1} 2:1 (2} 11l (3) 4:1 4) 1:3

‘Factoring’ includes

(1) management of fixed assets (2) management of manpower
{3) cash management (4) management of receivables
‘Taeftn’ o affea g 2
(1) wurft gfaat &1 9y (2) WHENR F Y&Y
3) Ve T (4) wrfeEl &1 e
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93. Which of the following is not a primary function of insurance?

(1) Provision of certainty (2} Distribution of risks
(3) Availability of capital (4) Provision of security
Frafafigs & @ F-m1 dm F aniee w7 w87

(1) Ffraaa 1 s (2) wifea w e

(3) dsft i IycrE (4) TN F IEH

94. Which Committee recommended the establishment of Insurance Regulatory anc
Development Authority (IRDA) ?

(1) R. N. Malhotra Committee (2) D. R. Gadgil Committee
(3) Jalan Committee (4) Jaykar Committee

form wfifa 4 IRDA o1 TT9T &t IFTET 617

(1) 3o o WeglAT HMHIA (2) 2o e SRS |
(3) sEA =ffd (4) srreRt At

95. Life Insurance is related to which one of the following needs?
(1) Social need (2} Safety need

{3) Egoistic need (4) Self-actualisation need

Siaq st frefafas § 8 e v savasa | gatug 27
(1) HETfoh TRl (2) HUE SAETAFA

(3) oTEdTens GraRft STETIeHar (4) 3eRqiE HreRHl aTravaEAal

(73) 26
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96. “Prithvi, Agni, Jal, Akash—Sabki Suraksha Humare Paas.” This tagline is

97.

98.

(73]

assoclated with

(1} National Insurance Company

(2} General Insurance Corporation
(3) United India Insurance Company

(4) Omrnental Insurance Company

“‘{Eﬁﬁ. 3?@, e, I —HaH ian AR UE] gE 3 A gt 2

(1) 49§79 Hr) (2) 9M= S fAm
(3] TAEE SveA AR FH (4) e st S

Unemployment Insurance is related to which of the following?

(1) Employees State Insurance Act (2) Workers’ Compensation Act

(3) Social Security Act (4) Payment of Wages Act
St e fr & & e amafm 27

(1) FHET w= st (2) ¥ sl siufms
(3) amTfeEr e srfufEm (4) wEEH WEW SAuEE

“alue of money is time-dependent.” The reason for this is the

(1) inflation and uncertainty of risk

(2) investment opportunities and individual's consumption preferences
(3) Above (1} and (2)

{4} Above (2} and inflation

27 (P.T.O.)
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“Ggr W1 YA WAE-SAE 31 TR F &

(1) merehifa aur sifan @ sffe 8
[zjﬁﬁmasmamwﬁmwﬁwﬁaﬂw
(3) IT® (1) A (2)

(4) IR (2) S G

99. “A bird in hand is worth two in the bush.” This presents the concept of
(1) present value of money (2) gross value of money
(3) time value of money (4) -nﬁt value of money
“ qz 7 atg 3uN) T@ WA Fl 8
(1) W& % a9 o4 F ST H
(2) T3 F TEA UEH H UM Hl
(3) WF % EI YA F HIU H
(4) 9zl % UG T H FAUN H

100. If time is n, rate of interest is k, then (1+ k)" is called

(1} present value factor (2) compound value factor

(3} present value annuity factor (4} net value factor

aft @gq n %, =W @ k B, 99 (1+ k)" & wEd @

(1) SAHE Ted (2) ffia g @
(3) @9 SAUH HeF FIH (4) @ TF FF

(73) 28
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The adjustment for time value of money is through

{1} interest rate {2) inflation rate

(3) growth rate (4) Above (1) and (2)
g F oA F HEESE S @

(1) & 2 % g (2) geredifa @t & gm
(3) fomr @t % g (4) IWF (1) T (2)

Financial Statements include

(1) Balance Shecl

{2y Income Statement

(3) Balance Sheet and Income Statement

(4] Trading Statements and Balance Sheet

g fam 4 wie 2
(1) st feg (2) ¥ faam
(3) e fagr ot sma famm (4) =it faam o s fom

External Analysis of the financial statements is done by
(1) Research Scholars

(2) Officers appointed by Court

(3) Officers appointed by Government

(4) Investor’s and Research Scholars

29
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104.

105.

106.

(73)

friy fyaror #1 sma feeiww fRan s 2
(1) ¥hg I g (2) =mTed g FRpw weiE g

(3) R g FEE weiusd g (4) FfeEeRdl qun me B g

Which of the following is a Financial Asset?

(1) Gold (2) Silver

(3) Building for residence purposes (4) Building for hiring
frefefigs § @ s-w fdf wwfa 27

(1) & (2) =@
(3) Wo9 T & T (4) oA R @ 3

Cautions Speculators are called

(1) Stag (2) Bear (3) Wolf (4) Bull
Tad T F FEd B
(1) 99 ofFed®  (2) Hafea (3) "fsm (4} A=ifear

Trading outside the Stock Exchange is called
(1) option dealing (2) blank transfer

(3) kerb trading (4) spot dealing
wy e % s fF 9 ot @E # w8

(1) forpeq wteg (2) ik saram (3) = fEm (4) =fsm giar

30
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107.  Which of the following is not concerned with Book Building?
{1} Pricing of Securities (2) Book Runners
(3) Malegam Committee (1995) (4} Underwriting
freffen & 3 F9-m 95 AR @ weiiw T8 27
(1) sfowfeal #1 qew fatfa & (2) g ="

(3) AT afify (1995) (4) iR
108. Speculator’s rumour to pressurise securities prices downwards, is known as
(1) bear raid (2) cornering
(3) bull raid (4) (1) and (2) of the above
o gt gingfaat & qeat d fioae 29 R g o ) @ 5@ g B
(1) wefedt 1w stern (2)
(3) defedi w1 @@l e (4) 3W® 7/ (1) 3 (2)

109. The basis of International Trade is
(1) division of labour
(2] specialization
(3] division of labour and specialization

(4) international flow of capital

IIYiE SR W AER §

(1) 2™ T (2) Tl
(31 g fawrem v fafindeo (4) I=iYE g wEmw

(73) 31 (P.T.0.)
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110.

111.

112.

(73)

From the following, which theory of International Trade has been explained on

the ground of cost differences?

(1) Comparative Cost Theory (2) Opportunity Cost Theory

(3} Reciprocal Demand Theory (4) Heckscher-Ohlin Theory

ﬁmﬁ%ﬂrﬁaﬁﬁﬂmﬁww#%ﬁﬁ@aﬁwmﬂm%mgﬁm
fEm w27

(1) qoeme ar fagrea (2) e @ g
(3) wreaf mwim & fage (4) FATR-3AEleH fagr

‘“Terms of Trade’ in relation to International Trade refers to

(1) the rate at which a country’s exports is exchange for its imports
(2) that ratio at which two countries exchange their goods and services
(3) real cost terms of trade

(4) utility terms of trade

FArEE SN ¥ wed § wmw f v | e

(1) 3 T & g1 2 o o o 2w o Fafal &1 fofme smadt & foao @ 2
(@) 38 3quE & ¥ 5w w3 3w Swgel aw daed # At W §

(3) TR T AR H I

(4) IqAIFTE =R o9

Gross Barter terms of trade represents

(1) ratio of total physical quantity of importables to the total physical quantity
of exportables of a country | _

(2) the ratio between the prices of exports and imports of the country
(3) net Barter terms of trade multiplied by the quantity of export
(4) Above (2) and quantity of export and import

32
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e Fe-fafm sen et 2

(1) et <0 & smr @ Pafa & w0 v % d9 oy

(2) Forelt S 1 Fraid aRqafi qun s wqat B St w1 oo
{3}ﬁaaa;§—ﬁﬁmwaﬁmﬁmﬁahﬁwaw

(4) 37w (2) 3 Fafa aw smaE 6

I Balance of Trade of a country is in equilibrium, then

(1} Gross Barter terms of trade = Net Barter terms of trade
(2) Gross Barter terms of trade > Net Barter terms of trade
[3) Net Barter terms of trade < Gross Barter terms of trade

(4} (1) and (2) of the above

7fz fft 2w 1 =MR-9Y A@gen # 2, A

(1) wel Fg-Tafmg e $ W = faw aqg-fatme s & o
(2) wat ag-Fafm = 6w > Few sg-ffme s 6 wd
(3) Fae ag-fafm =R # W@ < e wg-fafmg s § o
(4) 37w H § (1) 31T (2)

Gains from International Trade are determined by

(1} terms of trade (2) elasticity of demand
(3) differences in cost ratios (4) All of the above
AP AR ¥ W gF A o =i faffa w2
(1) =MR H ¥4 (2) @i & o
(3) ST Ul W (4) st gt
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115.

116.

117.

Which of the following is an indirect benefit of International Trade?
(1) Improvements in the techniques of production

(2) Vent for surplus

(3) Checking of inefficient monopolies

(4) Reduction in production cost

Brofofiag § @ FH-91 =AY SO H s @M 27

(1) e # gd+ § gun (2) #few & foim

(3) ey GHyERl FH UF FAT (4) IeqTEA AT H R

Speculative risks have the possibility of
(1) either favourable or contrary outcome
(2) only on favourable outcome

(3) loss of confidence

(4) (2) and (3] of the above

yfteredl SifiEn § weqrEar gt @

(1) 3% 91 Siage afomm (2) e e o #

(3) seARvaE & foae (4) 9 A H (2) wh (3

Use of Surity Bonds, sub-contracting and hedging of organised markets are best
suited for

(1} pure risks (2} speculative risks

(3) liability risks (4} property risks

34
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T F 0, 3y-3arh qw wvie IR F 30W, 9E 4@ 39 R
(1) Y¢ Jfgm & fore (2) uferedt sifam % foag
(3) @it sifEm & forg (4) wfa sifen & fog

Insurance is concerned with that uncertainty, which is

(1) dynamic risk (2) pure risk

(3) speculative risk (4) (1) and (3) of the above
dmr 3q afferam & wefeg 2, &

(1) T sl fEm 2 (2) Tg sifaw 2

(@) oferedt diflaw & (4) IwrE F & (1) 3’ (3)

In India, the contract of insurance should comply with

(1) Provisions of the Insurance Act, 1938

(2) Regulatory Provisions of IRDA Act, 1999

(3) Indian Stamps Act, 1899

(4} All of the above

wre # ST oTgE H UEH HET R

(1) #m wfufigm, 1938 & waEumEl #i

(2) #m Frams 3 e witme fafam, 1999 & faa yEum #
(3) Wil vy fufm, 1899

(4) Iqurer wefi

35
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20. IRDA-AA-1 of Insurance Regulatory and Development Authority Act, 2000
Regulation is for

(1) seeking approval of the authority for the ‘Appointed Actury’
(2) seeking ‘certificate of Practice’ issued by Acturial Society of India
(3) ‘Fellow Membership’ of the Acturial Society of India

(4) (1) and (3) of the above

St v 3 e witem sffEmE-2000, % 99 % FFER, IRDA-AA-1 g
2

(1) ‘Frgw w6 FRfF i ot @ sgafes #0  fog

(2) ‘FRl W #' F1 SHV-UF Acturial Society of India ¥ W FH & forg
(3] ‘Fellow Membership’ % 0 Acturial Society of India &

(4) S9Uw A & (1) A (3)

36 D/8(73—2332
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